

УДК 517.5

BOUNDED l -INDEX AND INFINITE PRODUCTS OF INFINITE GENUS

Andriy BANDURA

*Ivano-Frankivsk National Technical University of Oil and Gas,
Karpatska str., 15, 76019 Ivano-Frankivsk, Ukraine
e-mail: andriykopanytsia@gmail.com*

We established conditions on zeros of infinite product of infinite genus providing l -index boundedness of the product. Our investigation uses the known logarithmic criterion of l -index boundedness which describes the behavior of logarithmic derivative outside some exceptional set and uniform distribution of zeros in some sense. The main results are solutions of Skaskiv's problem on sufficient conditions of l -index boundedness for infinite products of infinite genus.

Key words: entire function, bounded l -index, infinite product, infinite genus, infinite order

Introduction. Let $l : \mathbb{C} \rightarrow \mathbb{R}_+$ be a fixed positive continuous function, where $\mathbb{R}_+ = (0, +\infty)$. An entire function f is said to be of bounded l -index [20] if there exists an integer m , independent of z , such that for all p and all $z \in \mathbb{C}$ $\frac{|f^{(p)}(z)|}{l^p(z)p!} \leq \max\{\frac{|f^{(s)}(z)|}{l^s(z)s!} : 0 \leq s \leq m\}$. The least such integer m is called the l -index of f and is denoted by $N(f; l)$. If $l(z) \equiv 1$ then the function f is of bounded index [21]. Let Q be the class of positive continuous functions l on $[0, +\infty)$ such that

$$\lambda(r) = \sup \left\{ \frac{l(t_1)}{l(t_2)} : |t_1 - t_2| < \frac{r}{\min\{l(t_1), l(t_2)\}} \right\}$$

is finite for all $r \geq 0$.

In particular, these functions have the following properties [6, 8, 24]: their upper growth estimates are sharp, they have uniform in some sense distribution of its zeros, etc.

Let us consider infinite products of infinite genus, i.e.

$$(1) \quad \pi(z) = \prod_{n=1}^{\infty} \left(1 - \left(\frac{z}{c_n} \right)^{m_n} \right),$$

where $m_n \in \mathbb{N}$, $m_n \rightarrow +\infty$, $c_n \rightarrow \infty$, $c_n \in \mathbb{C}$ and for every $p \in \mathbb{N}$ $\sum_{n=1}^{\infty} \frac{1}{|c_n|^p} = \infty$.

Obviously, the function $\pi(z)$ is entire and has non-complete regular growth. G. H. Fricke, A. A. Goldberg, M. M. Sheremeta, I. E. Chyzhykov, M. T. Bordulyak, Yu. S. Trukhan [11–15, 18, 26–28] studied l -index boundedness of infinite products of finite genus p . They established necessary and sufficient conditions providing that an infinite product of finite order has bounded l -index for some continuous function $l : \mathbb{C} \rightarrow \mathbb{R}_+$. Furthermore, for every positive continuous function $l(|z|)$ such that $|z|l(|z|) \rightarrow +\infty$ as $|z| \rightarrow \infty$ they constructed an infinite product of bounded l -index. It leads us to the following problem

Problem 1 (O. B. Skaskiv). *What is a continuous function $l : \mathbb{C} \rightarrow \mathbb{R}_+$ such that infinite product of form (1) has bounded l -index?*

Direct application of methods from [11–15, 18, 26–28] to product (1) is not impossible. In these papers, the authors estimated modulus of logarithmic derivative and split an infinite product into three groups. The second group contained one fraction $\frac{1}{z-c_n}$ for $|z - c_n| \geq q/l(|c_n|)$, $q > 0$. However, for infinite product (1) the corresponding second group consists of $\frac{m_n z^{m_n-1}}{(c_n)^{m_n} - z^{m_n}}$ for $|z - c_n e^{2\pi i k/m_n}| \geq q/l(|c_n|)$, $q > 0$, $k \in \{0, 1, \dots, \mu_n\}$. Then an upper estimate of the fraction equals $m_n l(|c_n|)/q$. Since $m_n \rightarrow +\infty$ as $n \rightarrow \infty$, it means that $m_n l(|c_n|) \neq O(l(|c_n|))$. Thus, Problem 1 requires another sharper method of investigation.

Note that similar infinite products are considered in [10]. In particular, there is constructed an infinite product which is an entire function of completely regular growth, of order ρ , of unbounded l_ρ -index and its zeros do not satisfy known Levin's conditions (C) and (C') ($l_\rho(r) = r^{\rho-1}$ for $r \geq 1$). More details concerning properties of entire functions of completely regular growth are in monographs [1, 17, 22, 23].

In multidimensional case sufficient conditions of index boundedness for infinite products are also known (see more results and open problems in [2–5]).

Main result. Let us denote $G_r(f) = \bigcup_n \left\{ z : |z - c_n| < \frac{r}{l(|c_n|)} \right\}$ and $n(r, z, 1/f) = \sum_{|c_k - z| < r} 1$ be a counting zero function, where $(c_k)_{k \in \mathbb{N}}$ is a zero sequence of the function f , z is a fixed point.

To find conditions by c_n providing boundedness of l -index we need an auxiliary assertion:

Proposition 1 ([24, 25]). *Suppose $l \in Q$. An entire function f has bounded l -index if and only if:*

- 1) *for any $r > 0$ there exists $P = P(r) > 0$ such that $|f'(z)/f(z)| \leq Pl(z)$ for each $z \in \mathbb{C} \setminus G_r$;*
- 2) *for any $r > 0$ there exists $\tilde{n} = \tilde{n}(r) \in \mathbb{Z}_+$ such that $n(r/l(z), z, 1/f) \leq \tilde{n}$ for each $z \in \mathbb{C}$.*

Weaker sufficient conditions of l -index boundedness are obtained in [7, 9]. This criterion is very convenient to investigate infinite products [11–16, 18, 26–28]. Also it is applicable to differential equations [8, 19].

Theorem 1. *Let $l \in Q$ be an non-decreasing function and a positive sequence (c_n) of infinite genus satisfy the following conditions:*

- 1) for some $q_0 > 0$ and all $n \geq 1$ $c_{n+1} - c_n > \frac{2q_0}{l(c_n)}$ and $l(c_{n+1}) = O(l(c_n))$,
 $n \rightarrow \infty$;
- 2) $c_n/m_n > q_1/l(c_n)$ for all $n \geq 1$ and some $q_1 > 0$;
- 3) $\sum_{k=1}^{n-1} \frac{m_k(c_n + c_k)^{m_k-1}}{(c_n + c_k)^{m_k} - (2c_k)^{m_k}} = O(l(c_n))$ as $n \rightarrow \infty$;
- 4) $\sum_{k=n+2}^{\infty} \frac{m_k(c_n + c_k)^{m_k-1}}{(2c_k)^{m_k} - (c_n + c_k)^{m_k}} = O(l(c_n))$ as $n \rightarrow \infty$;
- 5) $\sum_{k=1}^{n-1} \frac{m_k c_n^{m_k-1}}{c_n^{m_k} - c_k^{m_k}} = O(l(c_n))$ as $n \rightarrow \infty$;
- 6) $\sum_{k=n+2}^{\infty} \frac{m_k c_{n+1}^{m_k-1}}{c_k^{m_k} - c_{n+1}^{m_k}} = O(l(c_n))$ as $n \rightarrow \infty$.

Then function (1) has bounded l -index.

Proof. From the definition of the class Q it follows that $l(r + q_0/l(r))/l(r) \leq \lambda(q_0)$, where q_0 is chosen in condition 1). Then $l(r + q_0/l(r)) \leq \lambda(q_0)l(r)$. Choose $q_2 < \frac{q_0}{\lambda(q_0)}$. Hence, we obtain that $l(r + q_0/l(r)) < \frac{q_0}{q_2}l(r)$.

Next, we prove that $n \left(\frac{q_3}{l(|z_0|)}, z_0, 1/f \right) \leq 1$ for all $|z| \geq r_0$, where r_0 is a sufficiently large radius and $q_3 \lambda(q_3) < \min \{q_0, q_1 \pi \sqrt{2}\}$.

On the contrary, assume that $n \left(\frac{q_3}{l(|z_0|)}, z_0, 1/f \right) \geq 2$. It generates two cases:

- either a) $|z_0 - c_n| \leq \frac{q_3}{l(|z_0|)}$ and $|z_0 - c_{n+1}| \leq \frac{q_3}{l(|z_0|)}$,
 or b) $|z_0 - c_n e^{i2\pi j/m_n}| \leq \frac{q_3}{l(|z_0|)}$ and $|z_0 - c_n e^{i2\pi(j+1)/m_n}| \leq \frac{q_3}{l(|z_0|)}$.

In case a) the following inequalities hold:

$$|z_0| - \frac{q_3}{l(|z_0|)} \leq c_n \leq |z_0| + \frac{q_3}{l(|z_0|)}$$

and

$$|z_0| - \frac{q_3}{l(|z_0|)} \leq c_{n+1} \leq |z_0| + \frac{q_3}{l(|z_0|)}.$$

Hence, in view of condition 1) we have

$$\frac{2q_3}{l(|z_0|)} \geq c_{n+1} - c_n > \frac{2q_0}{l(c_n)} \geq \frac{2q_0}{l\left(|z_0| + \frac{q_3}{l(|z_0|)}\right)} \geq \frac{2q_0}{\lambda(q_3)l(|z_0|)} > \frac{2q_3}{l(|z_0|)}.$$

This is a contradiction.

Next, we consider case b). Therefore,

$$\begin{aligned} (2) \quad |c_n e^{i2\pi j/m_n} - c_n e^{i2\pi(j+1)/m_n}| &= 2c_n \left| \cos \frac{\pi}{m_n} \sin \frac{\pi(2j+1)}{m_n} + i \sin \frac{\pi}{m_n} \cos \frac{\pi(2j+1)}{m_n} \right| = \\ &= (1 + o(1))2\pi c_n \left| \frac{(2j+1) + i}{m_n} \right| \geq (1 + o(1))2\pi \sqrt{2} \frac{c_n}{m_n} \geq 2\pi \sqrt{2} \frac{q_1}{l(c_n)} \geq \\ (3) \quad &\geq \frac{2\pi \sqrt{2} q_1}{l\left(|z_0| + \frac{q_3}{l(|z_0|)}\right)} \geq \frac{2\pi \sqrt{2} q_1}{\lambda(q_3)l(|z_0|)} \text{ as } n \rightarrow \infty. \end{aligned}$$

Also it can be deduced that

$$\begin{aligned} |c_n e^{i2\pi j/m_n} - c_n e^{i2\pi(j+1)/m_n}| &\leq |z_0 - c_n e^{i2\pi(j+1)/m_n}| + |c_n e^{i2\pi j/m_n} - z_0| \leq \\ &\leq \frac{2q_3}{l(|z_0|)} < \frac{2\pi\sqrt{2}q_1}{\lambda(q_3)l(|z_0|)}. \end{aligned}$$

But this contradicts (3). Thus, we prove $n(\frac{q_3}{l(|z_0|)}, z_0, 1/f) \leq 1$ for all $|z| \geq r_0$. It implies validity of condition 2) of Proposition 1 because in view of results from [7,9] it is sufficient to check validity of the inequality for some value of radius, but not for all.

Next, we prove $\forall k \neq n : |c_k - c_n| \geq \frac{2q_0}{l(c_n)}$. Let $k > n$. Then in view of condition 1)

$$\begin{aligned} |c_k - c_n| &= c_k - c_{k-1} + c_{k-1} - c_{k-2} + \dots + c_{n+1} - c_n > \\ &> 2q_0 \left(\frac{1}{l(c_{k-1})} + \frac{1}{l(c_{k-2})} + \dots + \frac{1}{l(c_n)} \right) > \frac{2q_0}{l(c_n)}. \end{aligned}$$

Similarly, for $k < n$ we have

$$\begin{aligned} |c_k - c_n| &= c_n - c_{n-1} + c_{n-1} - c_{n-2} + \dots + c_{k+1} - c_k > \\ &> 2q_0 \left(\frac{1}{l(c_{n-1})} + \frac{1}{l(c_{n-2})} + \dots + \frac{1}{l(c_k)} \right) > \frac{2q_0}{l(c_{n-1})} > \frac{2q_0}{l(c_n)}. \end{aligned}$$

In view of results from [7,9] it is sufficient to show that condition 1) of Proposition 1 holds for some $q \leq q_0$. Denote

$$\begin{aligned} A_n &= \left\{ z \in \mathbb{C} : ||z| - c_n| \leq \frac{q}{l(c_n)}, |z - c_n e^{i2\pi j/m_n}| \geq \frac{q}{l(c_n)}, j \in \{0, 1, 2, \dots, m_n - 1\} \right\}, \\ B_n &= \left\{ z \in \mathbb{C} : c_n + \frac{q}{l(c_n)} \leq |z| \leq c_{n+1} - \frac{q}{l(c_{n+1})} \right\}. \end{aligned}$$

Obviously that $\mathbb{C} \setminus G_q(f) = \bigcup_{n=1}^{\infty} A_n \cup B_n$.

For the function $f(z)$ given in (1) the logarithmic derivative equals

$$\frac{f'(z)}{f(z)} = \sum_{n=1}^{\infty} -\frac{m_n z^{m_n-1}}{c_n^{m_n} - z^{m_n}}.$$

Thus, for $z \in A_n$ we have

$$\begin{aligned} \left| \frac{f'(z)}{f(z)} \right| &\leq \sum_{k=1}^{n-1} \frac{m_k |z|^{m_k-1}}{|z|^{m_k} - c_k^{m_k}} + \frac{m_n |z|^{m_n-1}}{|c_n^{m_n} - z^{m_n}|} + \sum_{k=n+1}^{\infty} \frac{m_k |z|^{m_k-1}}{c_k^{m_k} - |z|^{m_k}} \leq \\ &\leq \sum_{k=1}^{n-1} \frac{m_k (c_n - q/l(c_n))^{m_k-1}}{(c_n - q/l(c_n))^{m_k} - c_k^{m_k}} + \sum_{k=n+1}^{\infty} \frac{m_k (c_n + q/l(c_n))^{m_k-1}}{c_k^{m_k} - (c_n + q/l(c_n))^{m_k}} + \frac{m_n |z|^{m_n-1}}{|c_n^{m_n} - z^{m_n}|} \leq \\ &\leq \sum_{k=1}^{n-1} \frac{m_k (c_n - (c_n - c_k)/2)^{m_k-1}}{(c_n - (c_n - c_k)/2)^{m_k} - c_k^{m_k}} + \sum_{k=n+1}^{\infty} \frac{m_k (c_n + (c_k - c_n)/2)^{m_k-1}}{c_k^{m_k} - (c_n + (c_k - c_n)/2)^{m_k}} + \frac{m_n |z|^{m_n-1}}{|c_n^{m_n} - z^{m_n}|} \leq \end{aligned}$$

$$\begin{aligned}
 &\leq \sum_{k=1}^{n-1} \frac{2m_k(c_n + c_k)^{m_k-1}}{(c_n + c_k)^{m_k} - (2c_k)^{m_k}} + \sum_{k=n+1}^{\infty} \frac{2m_k(c_n + c_k)^{m_k-1}}{(2c_k)^{m_k} - (c_n + c_k)^{m_k}} + \frac{m_n|z|^{m_n-1}}{|c_n^{m_n} - z^{m_n}|} = \\
 (4) \qquad &= O(l(c_n)) + \frac{m_n|z|^{m_n-1}}{|c_n^{m_n} - z^{m_n}|}
 \end{aligned}$$

because $w = \frac{t^{\alpha-1}}{t^{\alpha} - b}$ is a decreasing function and $w = \frac{t^{\alpha-1}}{b - t^{\alpha}}$ is an increasing function ($b \in \mathbb{R}_+$, $\alpha \geq 1$).

By the maximum modulus principle, the maximum of $\frac{m_n|z|^{m_n-1}}{|c_n^{m_n} - z^{m_n}|}$ for $z \in A_n$ is attained on the boundary of A_n , that is for

$$\begin{aligned}
 z \in \partial A_n = &\left\{ z \in \mathbb{C} : |z| = c_n + \frac{q}{l(c_n)} \right\} \cup \left\{ z \in \mathbb{C} : |z| = c_n + \frac{q}{l(c_n)} \right\} \cup \\
 &\cup \bigcup_{j=0}^{m_n-1} \left\{ z \in \mathbb{C} : |z - c_n e^{i2\pi j/m_n}| = \frac{q}{l(c_n)} \right\}.
 \end{aligned}$$

We consider three cases respectively.

Let $|z| = c_n + \frac{q}{l(c_n)}$. Taking into account condition 2) we deduce

$$\begin{aligned}
 \frac{m_n|z|^{m_n-1}}{|c_n^{m_n} - z^{m_n}|} &= \frac{m_n(c_n + q/l(c_n))^{m_n-1}}{|c_n^{m_n} - (c_n + q/l(c_n))^{m_n} e^{i\theta m_n}|} \leq \frac{m_n(c_n + q/l(c_n))^{m_n-1}}{(c_n + q/l(c_n))^{m_n} - c_n^{m_n}} \leq \\
 &\leq \frac{m_n(c_n + q/l(c_n))^{m_n-1}}{m_n c_n^{m_n-1} q/l(c_n)} = \frac{l(c_n)}{q} \left(1 + \frac{q}{c_n l(c_n)} \right)^{m_n-1} < \frac{l(c_n)}{q} e^{\frac{qm_n}{c_n l(c_n)}} < \\
 &< \frac{l(c_n)}{q} e^{q/q_1} = O(l(c_n))
 \end{aligned}$$

as $n \rightarrow \infty$.

Let $|z| = c_n - \frac{q}{l(c_n)}$. It follows

$$\begin{aligned}
 \frac{m_n|z|^{m_n-1}}{|c_n^{m_n} - z^{m_n}|} &= \frac{m_n(c_n - q/l(c_n))^{m_n-1}}{|c_n^{m_n} - (c_n - q/l(c_n))^{m_n} e^{i\theta m_n}|} \leq \frac{m_n(c_n - q/l(c_n))^{m_n-1}}{c_n^{m_n} - (c_n - q/l(c_n))^{m_n}} = \\
 &= \frac{m_n}{c_n(1 - q/(c_n l(c_n)))((1 - q/(c_n l(c_n)))^{-m_n} - 1)} < \frac{m_n}{c_n(1 - q/(c_1 l(c_1)))(e^{qm_n/(c_n l(c_n))} - 1)}.
 \end{aligned}$$

Assume that $\frac{m_n}{c_n l(c_n)} \geq K \neq 0$. Then in view of condition 2) we have

$$\frac{m_n|z|^{m_n-1}}{|c_n^{m_n} - z^{m_n}|} < \frac{m_n}{c_n(1 - q/(c_1 l(c_1)))(e^K - 1)} < \frac{l(c_n)}{q_1(1 - q/(c_1 l(c_1)))(e^K - 1)} = O(l(c_n))$$

as $n \rightarrow \infty$. If $\lim_{n \rightarrow \infty} \frac{m_n}{c_n l(c_n)} = 0$ then from $e^{\alpha} - 1 \sim \alpha$ as $\alpha \rightarrow 0$ we conclude

$$\frac{m_n|z|^{m_n-1}}{|c_n^{m_n} - z^{m_n}|} < \frac{m_n}{c_n(1 - q/(c_1 l(c_1)))qm_n/(c_n l(c_n))} = \frac{l(c_n)}{(1 - q/(c_1 l(c_1)))q} = O(l(c_n))$$

as $n \rightarrow \infty$.

Now, let $|z - c_n e^{i2\pi j/m_n}| = q/l(c_n)$ for some $j \in \{0, 1, \dots, m_n - 1\}$. Hence, $z = c_n e^{i2\pi j/m_n} + q/l(c_n) e^{i\theta}$, $\theta \in [0, 2\pi]$. Then

$$\begin{aligned} \frac{m_n |z|^{m_n-1}}{|c_n^{m_n} - z^{m_n}|} &= \frac{m_n |c_n e^{i2\pi j/m_n} + q/l(c_n) e^{i\theta}|^{m_n-1}}{|c_n^{m_n} - (c_n e^{i2\pi j/m_n} + q/l(c_n) e^{i\theta})^{m_n}|} = \\ &= \frac{m_n |1 + q/(c_n l(c_n)) e^{i(\theta-2\pi j/m_n)}|^{m_n-1}}{c_n |1 - e^{i2\pi j} (1 + q/(c_n l(c_n)) e^{i(\theta-2\pi j/m_n)})^{m_n}|} = \\ &= \frac{m_n}{c_n |1 + q/(c_n l(c_n)) e^{i(\theta-2\pi j/m_n)}| | (1 + q/(c_n l(c_n)) e^{i(\theta-2\pi j/m_n)})^{-m_n} - 1 |} = \\ &= \frac{(1 + o(1))m_n}{c_n |1 - (1 + q/(c_n l(c_n)))^{-m_n}|} \leq \frac{(1 + o(1))m_n}{c_n |1 - e^{-m_n q/(c_n l(c_n))}|}. \end{aligned}$$

As above, the assumption $\frac{m_n}{c_n l(c_n)} \geq K \neq 0$ implies

$$\frac{m_n |z|^{m_n-1}}{|c_n^{m_n} - z^{m_n}|} \leq \frac{(1 + o(1))m_n}{c_n (1 - e^{-qK})} = \frac{(1 + o(1))l(c_n)}{q(1 - e^{-qK})} = O(l(c_n))$$

as $n \rightarrow \infty$. If $\lim_{n \rightarrow \infty} \frac{m_n}{c_n l(c_n)} = 0$ then we deduce

$$\frac{m_n |z|^{m_n-1}}{|c_n^{m_n} - z^{m_n}|} \leq \frac{(1 + o(1))m_n}{c_n |1 - e^{-m_n q/(c_n l(c_n))}|} = \frac{(1 + o(1))m_n}{c_n m_n q/(c_n l(c_n))} = O(l(c_n))$$

as $n \rightarrow \infty$. Since $l \in Q$ we have $l(c_n) \leq \lambda(q)l(|z|)$ for $z \in A_n$. Therefore, from (4) it follows

$$\left| \frac{f'(z)}{f(z)} \right| = O(l(|z|)) \text{ for } z \in A_n, n \rightarrow \infty.$$

Let $z \in B_n$. We obtain the following logarithmic derivative estimate

$$\begin{aligned} \left| \frac{f'(z)}{f(z)} \right| &\leq \sum_{k=1}^{n-1} \frac{m_k |z|^{m_k-1}}{|z|^{m_k} - c_k^{m_k}} + \frac{m_n |z|^{m_n-1}}{|z|^{m_n} - c_n^{m_n}} + \sum_{k=n+1}^{\infty} \frac{m_k |z|^{m_k-1}}{c_k^{m_k} - |z|^{m_k}} \leq \\ &\leq \sum_{k=1}^{n-1} \frac{m_k (c_n + q/l(c_n))^{m_k-1}}{(c_n + q/l(c_n))^{m_k} - c_k^{m_k}} + \sum_{k=n+1}^{\infty} \frac{m_k (c_{n+1} - \frac{q}{l(c_{n+1})})^{m_k-1}}{c_k^{m_k} - (c_{n+1} - \frac{q}{l(c_{n+1})})^{m_k}} + \frac{m_n |z|^{m_n-1}}{|z|^{m_n} - c_n^{m_n}} \leq \\ &\leq \sum_{k=1}^{n-1} \frac{m_k c_n^{m_k-1}}{c_n^{m_k} - c_k^{m_k}} + \sum_{k=n+2}^{\infty} \frac{m_k c_{n+1}^{m_k-1}}{c_k^{m_k} - c_{n+1}^{m_k}} + \frac{m_{n+1} (c_{n+1} - \frac{q}{l(c_{n+1})})^{m_{n+1}-1}}{c_{n+1}^{m_{n+1}} - (c_{n+1} - \frac{q}{l(c_{n+1})})^{m_{n+1}}} + \\ &+ \frac{m_n (c_n + \frac{q}{l(c_n)})^{m_n-1}}{(c_n + \frac{q}{l(c_n)})^{m_n} - c_n^{m_n}} \leq O(l(c_n)) + O(l(c_{n+1})) + \frac{m_{n+1} (c_{n+1} - \frac{q}{l(c_{n+1})})^{m_{n+1}-1}}{c_{n+1}^{m_{n+1}} - (c_{n+1} - \frac{q}{l(c_{n+1})})^{m_{n+1}}} + \\ (5) \quad &+ \frac{m_n (c_n + \frac{q}{l(c_n)})^{m_n-1}}{(c_n + \frac{q}{l(c_n)})^{m_n} - c_n^{m_n}}. \end{aligned}$$

As above, we will estimate every fraction

$$\begin{aligned} \frac{m_{n+1} \left(c_{n+1} - \frac{q}{l(c_{n+1})} \right)^{m_{n+1}-1}}{c_{n+1}^{m_{n+1}} - \left(c_{n+1} - \frac{q}{l(c_{n+1})} \right)^{m_{n+1}}} &= \frac{m_{n+1} \left(1 - \frac{q}{c_{n+1}l(c_{n+1})} \right)^{m_{n+1}-1}}{c_{n+1} \left(1 - \left(1 - \frac{q}{c_{n+1}l(c_{n+1})} \right)^{m_{n+1}} \right)} = \\ &= \frac{m_{n+1}}{c_{n+1} \left(1 - \frac{q}{c_{n+1}l(c_{n+1})} \right) \left(\left(1 - \frac{q}{c_{n+1}l(c_{n+1})} \right)^{-m_{n+1}} - 1 \right)} = \\ &= \frac{(1 + o(1))m_{n+1}}{c_{n+1} \left(\left(1 - \frac{q}{c_{n+1}l(c_{n+1})} \right)^{-m_{n+1}} - 1 \right)} = \frac{(1 + o(1))m_{n+1}}{c_{n+1} \left(e^{\frac{m_{n+1}q}{c_{n+1}l(c_{n+1})}} - 1 \right)}. \end{aligned}$$

If $\lim_{n \rightarrow \infty} \frac{m_{n+1}q}{c_{n+1}l(c_{n+1})} = 0$ then from $e^\alpha - 1 \sim \alpha$ ($\alpha \rightarrow 0$) it follows

$$\frac{m_{n+1}}{c_{n+1} \left(e^{\frac{m_{n+1}q}{c_{n+1}l(c_{n+1})}} - 1 \right)} = \frac{(1 + o(1))m_{n+1}}{c_{n+1} \frac{m_{n+1}q}{c_{n+1}l(c_{n+1})}} = (1 + o(1))l(c_{n+1})/q \quad (n \rightarrow \infty).$$

In other cases it can be proved that

$$\frac{m_{n+1} \left(c_{n+1} - \frac{q}{l(c_{n+1})} \right)^{m_{n+1}-1}}{c_{n+1}^{m_{n+1}} - \left(c_{n+1} - \frac{q}{l(c_{n+1})} \right)^{m_{n+1}}} = O(l(c_{n+1})).$$

By analogy,

$$\frac{m_n \left(c_n + \frac{q}{l(c_n)} \right)^{m_n-1}}{\left(c_n + \frac{q}{l(c_n)} \right)^{m_n} - c_n^{m_n}} = O(l(c_n))$$

as $n \rightarrow \infty$. Thus, (5) and condition 1) imply

$$\left| \frac{f'(z)}{f(z)} \right| = O(l(c_n)) + O(l(c_{n+1})) = O(l(c_n)) \leq P(q)l(z) \text{ for } z \in B_n.$$

Hence, by Proposition 1 in view of results from [7,9], function (1) has bounded l -index. \square

For example, if $c_n = \ln n$, $m_n = n$ then infinite product (1) has bounded l -index with $l(r) = \exp\{3r\}$. This follows from direct validation of conditions of Theorem 1.

Acknowledgment. The author cordially thanks Prof. O. Skaskiv for the formulation of the problem and his valuable suggestions.

REFERENCES

1. V. Azarin, *Growth theory of subharmonic functions*, Birkhäuser Basel, 2009.
2. A. I. Bandura and O. B. Skaskiv, *Entire functions of bounded L -index in direction*, Mat. Stud., **27** (2007), no. 1, 30–52 (in Ukrainian).

3. A. I. Bandura, *On boundedness of the L -index in the direction for entire functions with plane zeros*, Math. Bull. Shevchenko Sci. Soc. **6** (2009), 44–49 (in Ukrainian).
4. A. I. Bandura and O. B. Skaskiv, *Boundedness of L -index in direction of functions of the form $f(\langle z, m \rangle)$ and existence theorems*, Mat. Stud. **41** (2014), no. 1, 45–52.
5. A. I. Bandura and O. B. Skaskiv, *Open problems for entire functions of bounded index in direction*, Mat. Stud., **43** (2015), no.1, 103–109, dx.doi.org/10.15330/ms.43.1.103–109.
6. A. Bandura and O. Skaskiv, *Entire functions of several variables of bounded index*, Publisher I. E. Chyzhykov, Lviv, 2016.
7. A. I. Bandura and O. B. Skaskiv, *Directional logarithmic derivative and the distribution of zeros of an entire function of bounded L -index along the direction*, Ukr. Math. J., **69** (2017), no. 3, 500–508, doi: 10.1007/s11253-017-1377-8
8. A. Bandura, O. Skaskiv, and P. Filevych, *Properties of entire solutions of some linear PDE's*, J. Appl. Math. Comput. Mech., **16** (2017), no. 2, 17–28. doi: 10.17512/jamcm.2017.2.02
9. A. I. Bandura, *Some improvements of criteria of L -index boundedness in direction*, Mat. Stud. **47** (2017), no. 1, 27–32, doi: 10.15330/ms.47.1.27-32
10. A. I. Bandura and O. B. Skaskiv, *Boundedness of l -index and completely regular growth of entire functions*, Eur. J. Math. (submitted).
11. M. T. Bordulyak, I. E. Chyzhykov, and M. M. Sheremeta, *Preservation of l -index boundedness under zero shifts*, Mat. Stud. **19** (2003), no. 1, 21–30.
12. M. T. Bordulyak and M. M. Sheremeta, *On the existence of entire functions of bounded l -index and l -regular growth*, Ukr. Math. J. **48** (1996), no. 9, 1322–1340, doi: 10.1007/BF02595355
13. I. E. Chyzhykov and M. M. Sheremeta, *On the boundedness l -index for entire functions of zero genus*, Dopov. Nats. Akad. Nauk Ukr. **7** (2003), 33–39.
14. I. E. Chyzhykov and M. M. Sheremeta, *Boundedness of l -index for entire functions of zero genus*, Mat. Stud. **16** (2001), no. 2, 124–130.
15. G.H. Fricke, *Entire functions of locally slow growth*, J. Anal. Math. **28**, (1975), no.1, 101–122. doi: 10.1007/BF02786809
16. A. A. Goldberg and M. N. Sheremeta, *Existence of an entire transcendental function of bounded l -index*, Math. Notes, **57** (1995), no. 1, 88–90, doi: 10.1007/BF02309399
17. A. A. Goldberg, B. Ya. Levin, and I. V. Ostrovskii, *Entire and meromorphic functions*, in: Complex Analysis: one variable, Modern problems of Mathematics, Vol. 85, VINITI, Moscow, 1991, pp. 5–186.
18. A. A. Goldberg and M. M. Sheremeta, *On the boundedness l -index of canonical products*, Ukr. Mat. Visn. **2** (2005), no. 1, 52–64 (in Ukrainian); **English version**: Ukr. Math. Bull. **2** (2005), no. 1, 53–65.
19. A. D. Kuzyk and M. N. Sheremeta, *On entire functions, satisfying linear differential equations*, Differ. Uravn. **26** (1990), no. 10, 1716–1722 (in Russian); **English version**: Differ. Equations **26** (1990), no. 10, 1268–1273
20. A. D. Kuzyk and M. N. Sheremeta, *Entire functions of bounded l -distribution of values*. Math. Notes. **39** (1986), no. 1, 3–8,
21. B. Lepsom, *Differential equations of infinite order, hyperdirichlet series and entire functions of bounded index*, Proc. Sympos. Pure Math., Vol. **2**, Amer. Math. Soc., Providence, Rhode Island, 1968, 298–307.
22. B. Ya. Levin, *Distribution of zeros of entire functions*, AMS: Translations of Mathematical Monographs, Vol. **5**, Revised ed., 1980,
23. L. I. Ronkin, *Functions of completely regular growth*, Springer, Mathematics and its Applications: Soviet series, Vol. **81**, 1992.
24. M. Sheremeta, *Analytic functions of bounded index*. VNTL Publishers, Lviv, 1999.

25. M. N. Sheremeta and A. D. Kuzyk, *Logarithmic derivative and zeros of an entire function of bounded l -index*, Sib. Math. J. **33** (1992), no.2, 304–312, doi: 10.1007/BF00971102.
26. M. M. Sheremeta and M. T. Bordulyak, *Boundedness of the l -index of Laguerre-Polya entire functions*, Ukr. Math. J. **55** (2003), no. 1, 112–125. doi: 10.1023/A:1025076720052
27. M. M. Sheremeta, *Generalization of the Fricke theorem on entire functions of finite index*, Ukrainian Math. J. **48** (1996), no. 3, 460–466, doi: 10.1007/BF02378535.
28. Yu. S. Trukhan and M.M. Sheremeta, *On the boundedness of l -index of a canonical product of zero genus and of a Blaschke product*, Mat. Stud. **29** (2008), no. 1, 45–51.

*Стаття: надійшла до редколегії 16.03.2018
доопрацьована 20.03.2018
прийнята до друку 24.04.2018*

ОБМЕЖЕНИЙ l -ИНДЕКС ТА НЕСКІНЧЕННІ ДОБУТКИ НЕСКІНЧЕННОГО РОДУ

Андрій БАНДУРА

*Івано-Франківський національний технічний університет нафти і газу,
вул. Карпатська, 15, м. Івано-Франківськ, 76019
e-mail: andriykopanytsia@gmail.com*

З'ясовано умови на нулі деякого нескінченного добутку нескінченного роду, які забезпечують обмеженість l -індексу. Доведення ґрунтується на використанні відомого логарифмічного критерію обмеженості l -індексу, який описує поведінку логарифмічної похідної зовні деякої виняткової множини та рівномірний розподіл у деякому сенсі цих нулів. Основний результат — вирішення проблеми Скасківа про достатні умови обмеженості l -індексу для нескінчених добутків нескінченного роду.

Ключові слова: ціла функція, обмежений l -індекс, нескінченний добуток, нескінченний рід, нескінченний порядок.